[N
<
RN
<

a(d cot(B))

a(6 @) (rad)

1072

e
4
e

—

e
T
'#11
H—
—
—
o
—
4
+
e

T
TR Y

10 0 . 10° 107 1 10
TP, (PCA t% beamling TPp
—=— DQM_original_step2_ttbar-phasel-newgeom
—e— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom
—— DQM_pixelCPETemplateCutChiSquare5_step2_ttbar-phasel-newgeom

=
o
iN

1

- -
IS IS I T S S A
G G
°e X 1
= = 1 : : :
? UN = B B Y S IR
S o
) 2
o [s]

107}

1072

Ratio

+
..................... 0.8 T I

A : i . . . H

- o B 5 i L . + E B
114 F : 0.6p---=-==-e-aft -t -l F-o-- b= F-dF -

+ 114 L . - . + |l .

_1 2 3
10 L 1P (pca dbeamiindf

a0 p,/p,)

107}

e
i .

1072

o T
T 12 o - A
= :
1 ‘:.. ............
8 : :2 ,
TPlpg)T (PCA t%)obeamlin%)o



	Contents
	Page 1


